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1 glaiaVl &b

The fungtienfkxconv/ie 1 asanl A fx) = /|x — 1] A

is defined for all x. Which of the Chainia AN Jaadl e (g) X a8

following statements is true?

a. lllllf(X) # 0
x>d

A L i
i x = 1aie glEs ALE ey dlais f o
b.

nuous and not differentiable at x = 1

f is conti
' E 1




1 dbij aic ywlas Adlee

Find the equatioGfand igaieline  f(x) = Vx +3 Al pulad) A1Nics g

to the function f(x) = Vx +3 X =—2 3

at x = —2.

a. y=4(x+2)+2 .O
O

1
b. y:—z-(x—2)+1
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Find an equatiW?ﬂieCﬂ'ﬁ‘@e S (s adiiiae Alilea 3290
[ii\i‘erpendicular toy—=3(x—2):h1 16 audiual) ahiyy =3(x—2)+1 |
and intersecting the line at the .(0,3) akaaily
point (0,3).

- _ ; =
iy — ——X + 3 O

3



Use the graph shown below to | ]1151 f(x) .m:..ﬁ aLui ,_,a't.ul\ J.uul\ r.m...\
. determine lim J(x) 5
#20% " dmanahj. com/ae

f(x)
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f h'(x) = ny h(x), where n > 0, aq > 0 ¢us ch'(x) = ny h(x) i)y
and h"(x) = 18 athagiviencpeint x, «x SUama ddadi 2 h''(x) = 18 g q
find the value of n. N dasd a9l
allli} : O

O

b. 36







